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QUET F : IUSAII-SFAAAY / fSd-Taare

Section A : Unseen Reading Comprehension

Guer G : WAHSSHEY / TEHIHS-FE
Section B : Writing Skills

Ut T : STAHAHUM / ST SATH]
Section C : Applied Grammar -

QUer ¥ : USq-STaarey / Ufed-saarE

Section D : Reading Comprehension

& :
Instructions :
(i)  FT Fv93 TERT GUST i
59 y97-77 4 9K @S § |
The question paper has four sections.
(ii)  FhrRIveq I JGarar IWYrTEE AGANT |
IRF GUE F IW & T IW-Yaw ¥ & faed &
The answers have to be written in the answer-sheet.
(iii) 9% GUSH SYFHET ITUNT THHT] T FAT dGHAEN |
JoF GUE & IW TH & 5% W #7 g forgd g |
The answers to each section must be written at one place.
(iv) Fe99F AT 7A@ |
Tv7-99 W IR 7 7@ |
Don’t write answers in the question paper.
(v)  FITEEI FEAYAARY HavIHE A@Aqr |
Y-Y7 & STJ9R F¥T-9&T 3avy & fore g |
Write the question number according to the question paper.
(vi) TIT FITE STOT Ghad @ |

b2

gyt yvH & IW gEHa 4 foraw |

Answer all the questions in Sanskrit.

12 &

12 &

28 3Fr

28 3T



@usT & (Section A)
SqfSaryT- Srqatgay_ (3ufeq- Jaaie) :
Unseen Reading Comprehension 12 3=
1. orifafaey s U3 Yeauvar, §&hd WA
frefafed sTess & Tea R T ¥ & IW §&d 7 fafey :
Read the following passage and answer the given questions in Sanskrit :
TaE CRUERNT H< dHeAIgIey! faIgEIn G ¥ad | 3
s, ReneEE, RveEE 9 T Efd | U0 T §ET 9RaasE
Rad R seeEta | WA 99 9 §ha SAE 9, 99 "ot | N Jaead
T g 9 ¥ WA AT WO | 9 UEH g A SR
foFH<ERE W | SAFENT FeEaddr A FEereE ¥ T v |
TR WRed de odt faeecqwfomar W e mesfa | foeaequeean
foeagiel 3fa T dfees: WO | 3@ OE AN S WG ¥fa TEd |
T3 T AR otem | @ shEREY TR YeRmH % 3fa fo
TG | 7§ HEaEd gRA | SRS WUhd WY SeE o e &
SUTerEs pfers = |

oA
L 3y W fowrn foed |
3fad R g fafag |
Choose and write the correct answer. Ix2=2
(%) T T FH TSdd SIS ?
(1) yfqarEr
(i) YRS
(iii)) W&

(iv) H9Ee
(@) SFH<E TS ey Tqd ?

, @ fafereg
(i) EREHq
(i) TeiEg
(iv) FHHRHIH
II. QoigeeH 3a |
of g # I T | _
Answer in a complete sentence. 2x2=4

(i)  Fgad FeE wRw st ?
(i)  YEANq Sfegar e o 3 TS 2

52 3 P.T.O!
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III1.

Teafasersr ey 3w fawn fawd |
feu U fomedi § 9 3fom sw g fafay |

Choose and write the appropriate answer from the given options. I1x4=4

(F) ‘FEafaaar 3fq favmee f& favravey s wgwe 2

(i)  yfEmEr
(i) A
(i) fafersqg
(v) A |
(@ ‘graf< sfafmaes Fgee fe ?
(i) |
(i) ¥dq
(iii) 9UEE
(iv) ¥ |
(M 3 FdAH FYEOT T A ?
(1) 5ar
(i) T
(iii)  =qUog
(iv) OO |
() ‘I I e 5 faemey aﬂ@é IR ?
(i) A
(i) e
(iii) wa
@av) I 1

T F[DCH Fd 3G NG Tearawedr o faed |
W ITHR & AU & I Ve oW fawedl ¥ g fafae |

Choose and write the appropriate title for this passage from the
given options. Ix2=2

()  dfrergRr
(i) R
(iii)  HEFHA

(iv) ~ foasH<emRey |




WUgT @ (Section B)

TS AT (TEHTHE - 1)

Writing Skills , 12 3T

for & foe o frafafed @& & A § Ry T v # werEd ¥ QO wWOqE
fafe -

Complete the following letter, written to your father, with the help of
the words given in the box and rewrite the same : , %x8=4

(i) |
fafar |

TSIT (i) !
|

3 PUG TN | T T wee Sffawesr wfgsEfd Fq Tafe™
FfeaTdEaRaaeyTaE F4 (iii) W My | ey
(iv) IEH, T AW IMEH | N NS TR
A S T T o wWH de | e 9 A w T
IR (v) !

3 affdicger AMM-guar ENTITG | fueEeE wier @ u§

(vi) Ny | AR e YEA g A, WHT 6§ STEva,
AeS] | A (vid) afesafc | HIGERUEE WY YO | '
| T T,
(viii) B

i

AT, uEANaAiTaE, 9, ScaRas, ¥aHd, fUgEeiedr, e,
:lilﬁc_vﬁ'ﬂ‘l

5 P.T20.



3.

b2

Y Wed fod gEAT HeSuIeHvIsAl TEEadl et aeand S faad

A9 fau T fa @ avie wesw § RU MU v & WeEd § uR €id gl o
T

Describe the following picture in four Sanskrit sentences with the help

of the words given in the box below : 2x4=8

fommer:, WA, aIeEr, FEEW, afaer, 9, TR, Y, STEded,
Rrghwr, Fmw, wdaE, e, SeRREE, STEy |
' Jgar (OR)
Fae yREYgT (Faw BEH & fow)
For Blind Candidates only

qﬁgqmaaqm oEEAE fefafted favan sfuee ogy Shdaedy UHH SR

Wﬁmmmﬁmﬁﬁmﬁf@ﬁﬁwmaﬁﬂwmﬁwﬂﬁa
fofay

Write a paragraph in four Sanskrit sentences on the following topic with
the help of the words given in the box : 2x4=8

T[T

faufr, srmwawe, fafed wfeem, suqwe, ¥, wFEEEE, YR,

3T a-SaT, AEGERr S, e HET, s geaaq, [EEd, TR
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sreifafgaaray Fafgauey uf s a1 Fan foad .

@ug: T (Section C)

FATHATRIIY (HATh FATHT0)
Applied Grammar

frafafad sl § t@ifed 98 § 9fy sgar st o fafan .

28 &

Write the underlined words of the following sentences after joining
or disjoining Sandhis :

(i)
(ii)
(iii)

(iv)

e SEE S yumt |
a1 + 3fud fohgamy |
YAHH, AT Ay YUHTEE |

e + SR g e |
Feliffaaary Yafgaue T g a1 senfaser: faan faad -

Ix4=4

frafafaa adl § terfga & &1 T g faor fu Tu o fawedt § ¥ g
fafar .

Choose and write the correct compound or expounded form of the

underlined words of the following sentences :

(%)

(™)

(M

ot 3ZA4 |
@) foFr 9 FoE 9

() I 9 F =

(Gii) oo 9 FE @7 ORI |
Ffaeaq ST S 99 W Fooaura: = |

(i)  wfcRdH=T Fom

(i)  wfeeeRT

(iii) wfdgdrd: ST |

37 aeTh: A4S Fell @Rl |
()  s=om M=

Gi) T W

(i) =B SfAfGH= |

Ix6=6

P20,
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(9) o4 gyEr fEger ¥ fqadte |

(i)  gvEr uEer
(i)  TyERoE
(iil)  wyroEd |
(8) W § I IR TBA |
(i) e g
Gi) e 9
(i) 2T fe |
@ & g 7 79w foErRg T e |
(1) faalsd:
(i)  ordfres
(iii) faerd |

sifafgaaey W@fsareH Y-yl 9asg fawsy a1 wqfaay s fasasr
o fomaa - _

frafafaa aedl # Y@ifea & % TEa-TEd @ S A1 §gE e 3fad W
fowedi # 9 g fafew -

Write the underlined words of the following sentences after joining or
disjoining suffixes to the roots or words. Choose the correct answer

from the given options : %x4=2
(F) T + G difciwr TET |

i) T

(1) e

(iii) =B

(Gv) T |
(@) e e i |

(i) H 4+ S

(i1) ST + 31
(iil)) 3 + 2
av) I + e |
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() g}iﬁq+mwmmﬁrl

G)
(i)  HEAMH
(iii)  SFEET
(v) EEEE |
(F) IRy HewH §9 SH |
@)  Teq + T
(i) ¥8 +&H
(iii) ¥eq +
(iv) &+ |

frafafad ae § sies & =g feu TU 9 & yefa-yegdl & e fafay

Write the words of the following sentences after joining suffixes to

the roots or words given in the brackets : 1%2=2
() (== + 7)) g & & |
(ii) (g + w1g) femrsr ol gwiafa |

SEfAREqaTEy RHEI FoaeaueHeddl Sfad: sfoaTer [ foad
frefafaa =l & Rt &t o dom § R v sfa o= & g #ifg

Fill in the blanks in the following sentences with appropriate

indeclinables given in the box : : I1x6=6
(1) el STy 3Tesfd |

(i) o FIE S NS gfr st |

(i) %@ T T A TS A |

Gv - @ . 3a]

9 - BTG



sl

P

W) o S T Gt SR S |

(vi) I&d WOHT fhgd _ I §g9anT |

e Sl
qq, qEE, Fo, W, qG, W6

Sefahed T IfqqueETe fawmr a1 [Eq |
fer T fomed ¥ ¥ 3 ¥E v AR g gl Fie |

Choose the correct numerical words from the options given below and

complete the sentences.

(F) TFAOEE 5 w8 |

(1)
(ii)
(iii)
(iv)
(@) dr

(7  SEE

TR
CL: 158
aql
94 |

oo 9 i |

3T TEar AT I |

% 24873

THET

-
THE |
e gvat |

Zar

FUSIL
3

39 |

10

Ix4=4



10. seifafgaary (Efgaue ST A | Feaasesr Sfaq, I famr SR
Her fomd - -

52

AR few o A # e ) s § | fow T fawed #§ ¥ 3fed W g
T[S IS H Hfad R fAfET

Choose the correct answer from the given options and correct the

underlined incorrect words in the following sentences :

(%)

(@)

()

(%)

ar 9HaErRYd 93y |

(i) T

(i) 93Y

(ii) wf=

(iv) 93 |

T4 T fage i |
(i) amam__—

(i) 3™

(iii) 93T

Gv) fssE |

g difeishl shisfd |

& - wem

(i) e

(iii)  @Terh:

(iv) @ |

o wq e FRA 2
1)  sefm|

(i) e

(i) gva"r

(iv) =&3fd |

11

I1x4=4

P.T.0:



QuE: ¥ (Section D)
ufeq- srEatey (ufed-raae) |
Reading Comprehension 28 3

11. sifafad T, ve, Aeat 9 gfewn seasmHranT fored
frfafed meiw, T iR ARIY # vea U T v & W fafEw

Read the following prose, poetry and drama passages and answer the
given questions : '

52

(21)

%@égmwﬁl‘ﬁ{ﬁwﬁmlﬁ
Afgaar STRIEq 3fd T | 3 IS I qui wenfy iy
it | T WAl RN I heloaq NTHGeeH g9 gfeen JrEam,

oA

5

II.

III.

T RN | T Sy 9l Seed add | SEmhe gt |

THTRA I |

T T ¥ I T |

Answer in one word. Lioo=1
() UTRAEEIE FET ST T 2

(i)  wwaEq g add ?

qufaTeR 3T |

Ul e § W AN |

Answer in a complete sentence. 2
TGS A A 7

faseaver 3faaq W faan foraa |

fagedi # ¥ 3fad 3 g fafay |

Choose and write the correct answer from the given options.}
=x2=1
2

(F) ‘=EEr 3G Fguew fRaee ey 2
(i) S
(i) H=d
(iii) =dd
(iv) & |

12



(3m)

il

(@) o 3fa A S w2
() Foswr
(i) TR
(iii) AT
(iv) TdeAfaumr: |

qEG, T 9eER gty fawrer o)

AT

I

THTSH 3T |
wF T # I G | : |
~ Answer in one word. ; §x2=1

II.

III.

1)  ¥ET g & 2

(i) TR e §R Waq 3fd W s i 2
qufareRe 3T |

i g § W AR |

Answer in a complete sentence. 2
oSty faowar & i ?

fompeaear 3faaq s foan faga |

fosedt § @ 3fed s g fofan |

Choose and write the correct answer from the given options.l _
=x2=1
2

(@) ‘v sfafavmumres favreaes oy ?

i) =
(i) foomer
C(iii) gz
(iv) 3R |
(@) ‘o 39 I fF W wgw ?
(i) 3y
(i) sfa
(iil) TAq
(iv) T |

13 P.T.
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(3)

TR — o1 | Ty mg Wk faefa A A sevr e v

(¥ ¥
Alaliatie Sipeillisn<d ?

T — 9T | R 3 F WEqEEa ? 3T avl iy Few, &9 efy

FhT — (sforea, Tepiem) oM 5y Ihadt wadt ? afg 3 FwmEul af

i

III.

e Fult diger 7 dargeaw avfr Figwr ? g | % g
3G FHAAWAE | IHA ‘F-H S G ety sy =
fafrarsrnty |

THYeH I |
TF T § IW N |

Answer in one word. Loo=1
(1) Y9 T FE A 2
(i) TR 7 fosdfa & ?
qUiamEe 3T |

ol g § W AT -

Answer in a complete sentence.

Hh: W-JU o B H TE HAC 2
faac: 3faay sw o fomaa |

[ Y

- foeedi # 9 3fea s g fafaw |

Choose and write the correct answer from the given options.l
=x2=
2

@) v o e v R o 2
() e
Gi) s
(iii) TS
(iv) @& |

(@) 3% T T FAATATE I IR 3 TEAHIE F T, ?
() T |
(i) ==
(i) #EE
(iv) g |

14



12. sefafEqwear S 99 faserar fa@r foaa
frfafea €91 #9741 & 39k 9 faswed § ¥ g fafan
Choose and write the correct gist of the following two sentences from
the given options : 1x2=2

(®) Aefifoas g &9 g9 9@ a6 |
(i) €99 99 ¥ 9o & 9 |
(i) &@ 9% 9 A o Fsfy e AfE |
(i) U S 9 7 f& g f6 9 S, ? 3 fedep! & v 9
FHE T " geAd |
(iv) &% &K fyafa, o= & fefa |
(@) ‘gad d9smaq IRaaa: @ |
(i) HER 9w T 9% Td SR |
(i)  wrer o 39 faeR Tifoeier i@ |
(iii)  efr I el Foherq T |
(iv) e T T8 TR |
13. o 9fad W8 faan seifafaavaissad o qUd
W A ¥ 9fad 9% geR frefared &Ml Tel & o @ Ul ST
Complete the prose order of the following two shlokas by choosing
the appropriate words given in the box : éx8=4 '

(F) TENCEATY A9 qF @@ o
e AR ANy feRieer ol
e
AT | TSR (3) & G st
ferdioers (iid) T (iv) | |
(@) SefgHIeA HAIE T g |
¥ B wAEgH 999 9 g9 9 |

(FF1) AT (v) T (vi) (7d9)
afaaEr (vii) T g7 9 (viii) (@) BT |

i S
d, Ay, v, oy, mueE, Waree, W, $e |

52 15 P.T:0.



14.

15.

16.

52

W@fgauei Ty SAfHT Fod |
W@ W & UR R yya-fafor Hifse |

Frame the questions on the basis of the underlined words.

() P & gH Fo G G S |

(i)  qerdw o fqee & v |

(iii) el T9 WRfE vag | |

(iv) Hee® gy AEE wEt |

Seifargan A JeaHAER foed

frafafad ardl & wea1 & % & IFqER fafay .

Write the following sentences in theilr sequential order :
(i) AN, TR FESATEATE: HYE A S |

(i)  =rE SgfT Tdr oRgulr ST |

(iii) WWWW*WWWWWWWW7

(iv) T=AE SedwE e T e |
(v) it seeond Fmr et |

(vi) @t fafser Sed gea = |

(vii) YeS=T9Far GBS Tl BT e |

(viii) o 9hf shedr ST g sEgay — o | fEwd faw ot ey 2”7

Efgauem FHEER ot faar forea |
W@ifFd W& & TEMER 374 g fafeu |

Ix4=4

1.0
5)(8—4

Choose and write the correct contextual meanings of the underlined

Wo_rds.

(F) 9y 9T ! o % WEIwar |
(i) 9% S
(i) g
(i)  SrgEEfE
(iv) el

(@ ‘uqfevfe e wE wEr |
(1) qrET
(i)  veuefeAHT Er
(i) T wEI
(iv) I |

16

Ix2=2
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